EARAROBREBRT —5 XN—ZXBISH—F

2024578148 (B) 7EHEE5H

N EETREE YS5R3%LOP ‘(9&1&} m ‘I%EH?’JFE‘?] - | & 20 ®m
[xE%] 175 :4,000,000 3 . 23&:1,400,000 3 . 33%&:800,000H . 43&:600,000H / 5&:0H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— . WO :08. -3-1- 3| - SHEABT (5E)
11111 71/77,{7/ 6 %0 2(0_5)7 3-3-1-1 37.3 1 fzg;’) il =)
R:7UA—=Y B:VF—9 o ==
. 5 | REE 2:09.1 2-2-2-2 |37.7| — | 3 | 467 |EENE (E®)
23 6| 7b—70— RN Q) o |
RiVEWIF— BYYF—XEU— 2 —RITT—1
R < Echiy 10. -5-4- 1| - BA—F (52
N . NPESCEPEY 7 | B 2(13(;7 5-5-4-4 | 38.1 4 (4:321) %
RFVYLH/EEE BURVRI Bl 8l
= o= s 7 | AlllE 2:10.9 1-1-3-3 [39.6| - 5 507 | RS (ER)
4 BY 2| ST —IINS 0 (3/4) (5 |
RiF—NURDL 8:T7TU—FLAO B
5 B 2:11.6 6-6-66 |38.3| — | 6 | 508 |MEDEX (£E)
5|5/ 5| AU—IIRTFLR # 56.0 0 *3) FEES (9
RIIET7XRAT7 B:FSE—L 75 REG
5 ZUEH : -4-5- . - SHHERIF (1E5)
6 3| TIFFRYL R Dy | B ? g SRR
R:TJUA—=Y B:TUVEIANA RERT 7— L
® 1—F—BEBIEfI
13—7F— |2,6,1,3,4,5
20— — 2,6,1,3,4,5
30—7+— |[1.6,2,4,3,5
43—73+— [1,6,2,4,3,5
o ILRE
BB 1 120/ JA R 1-6 140H B E 1-6 290 3EE 1-4-6 470M
B B 1 1104 1-4 200 =51 1-6 290M 3EH 1-6-4 8804
6 200 4-6 340/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



